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Hint: Apply the defintion of
Note: The operations @ ¥

and the change of origim:
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and origin,

the change of scale
3,12, 1fr, the coefficic of correlation be pairs X, Y,), is pos
e then determine whether exch of the follox ents is true o
false:
%, rbetween (=X, =) is also positie:
b Fbetween (~Xi, ) and that between (X;, =Y her positive or
negative.
<. Both the slope coefficients A, and fi, are pe re f, = slope
coefficient in the regression of Y on X and efficientin the
regression of X on V.
<313, 1f Xy, X3, and X are uncorrelated variables eacl the same stan-
dard deviation, show that the coefficient of correl tween X) + 42
and Xs + Xy is equal 10 §. Why is the correlation cc { not zer0?
3.14. In the regression ¥, = fi; + A2 X, + 1, Suppose we I ch X valueby
A constant, say, 2. Will it change the residuals and fitied values of 2

Explain. What if we add a constant value, say, 2, to each X value?




